FASTON®

FCD RS s PERES B
THE PERFORMANCE PARAMETER OF FCD SERIES REDUCER
P B vl -

200 | SO | RBEF | BIBE | awms | meps | T
iH RIHOEIE | biggest |the admissible| the instant BNIGE | RNIIE | EEE Sk 2 RIS
Item IEEL s admissible— maximum admissible the admissible the admissible)  Starting back lash weight design

rated torque . highest average torque lifespan

Reduction under torque value of maximum input rev input rev
L when start | average load torque
ratio  |2000r/min input e e e
- Arc

Model Nm Nm Nm Nm rpm rpm cNm - Kg Hour
50 3.6 11.8 4.7 23.5 4.6 <20 9000

14 80 5.1 15 6.2 29 8200 3500 3.6 <20 0.5 10000
100 5.3 18.6 7.5 34 2.9 <20 10000

50 10.8 22.5 17.6 47 7 <20 9000

17 80 14 39 21 54 7200 3500 5.1 <20 0.66 10000
100 15.7 36 22.5 70 4 <20 10000

50 16.6 38 23.5 68 9.3 <20 9000

20 80 23 49 28 78 5500 3500 7 <20 0.94 10000
100 27 56 33 93 5.4 <20 10000

50 26.5 68 37 125 16.8 <20 9000

25 80 42 91 62 157 4800 3500 12.6 <20 1.7 10000
100 46 108 73.5 180 9.5 <20 10000

50 52 148 73.5 263 34 <20 9000
32 80 79 202 126 350 4000 3500 26 <20 3.3 10000
100 94 228 148 412 21 <20 10000




FASTON®
FCD 'q% ﬁu FCD SERIES ALWERS E ASSEMBLY ACCURACY REQUIREMENTS

AR, QN RAFAE 2R T A T A5 S 1 M A e, RIAIC™ St PERES AN IR, AR SRAS N ST (R RIS

When assembling the design, if there is abnormality such as deformation of the mounting surface and bare assembly, the perfor-

mance of the product will be degraded. As shown in the figure below, the following table shows the recommended accuracy of the
assembled housing.

FCDH-C-C

- LT[

FARERECE

Mounting face of the housing

/H 99UBJ8|0) pepuawLLI09al BuisnoH

; % ] o
= —— &
= Z
R | H7
] | =]
o | o (
I ] I L [b]A]
R R
FCD—C—C A Wave gZi}:rator mounting surface
FA T — A ™ 8 L R AENG
CUP TYPE INTEGRATED CAM ULTRA-THIN MACHINE Recommended shaft tolerance H6

[_Lla]A

FRERECE

Mounting face of the housing

= REEATRAFA AR, G REE ., WAL, 5 2E A o FRECIMIURRUESE A, B N\l EL 1%
G NALEC &, 381 -5 s 8 IR T 1 2

/H 99Uel8|0} pepusLLLIo9al BuISnoH

It consists of three basic components, including a flexible wheel, a rigid wheel, and a ‘ 1 - A
wave generator. The flexible wheel is a cup—shaped structure with an ultra—thin @ 1k
design. The input shaft is directly matched with the inner hole of the wave generator ‘Oj j *%S
and connected by a flat key or a set screw. _3 H§7

[ ]
L -

7= ks /Product characteristics

L bl

— BRI e Super flat structure

=] IRRERZER
— BB ¢ Compact and simple design Wave generator mounting surface
— L R BB ALK P R 5 A o Excellent positioning accuracy and rotation accuracy HHEEAZENG

Recommended shaft tolerance H6

R/ Size 14 17 20 25 32
a 0.011 0.015 0.017 0.024 0.026
d 0.008 0.010 0.012 0.012 0.012

e 0.016 0.018 0.019 0.022 0.022




FCD%J%l FCD SERIES

AT B I INSTALLATION PRECAUTIONS

23877 X e B8 INSTALLATION METHOD AND STEPS
S5FCSIiE g 122377 A NS B —5K

It is consistent with the installation method and steps of the FCS reducer.

GAETE B H INSTALLATION PRECAUTIONS

AT AN (R, RO AR TE IS FE N P RE R AR AREN, FMias, IH - IR B RIS 2,

Due to an error in assembly, the reducer may vibrate, abnormally sound, etc. during operation. Please
follow the precautions below to implement the assembly.

Precautions for wave generator:

1. TR TEZH RN i G [ A A A b AR BN ST P2 99 7 o P XE 3o i e {6 7 o 2 i MO M S i A
2. A — AR AR I, TR EAC O mAS, BRI HIE HEE N,

1. Please avoid applying excessive force to the bearing part of the wave generator during assembly. The wave generator can be
smoothly inserted by rotation.

2. When using the integrated wave generator, be careful to control the influence of the center offset and skew within the recommend-
ed values.

W%, RACKITE LS

Precautions for Circular spline and Flexspline:

L. BN A IH R 5 AT, 25 Rt
2. WINRZZ LB R BRI, A AR TBILEF I,
3. WA AR Fe iR A B St 1 @A ARGRELE AN L, DABES 5 NI%E T2,

1. Confirm that the flatness of the mounting surface is good, skewed or not

2. Check if the screw hole is raised, has residual burrs or foreign objects.

3. Confirm whether chamfering and avoidance machining are performed on the housing assembly to avoid interference with the rigid
wheel.

el M ) 7 T

Precautions for Grease:

1. MR R RR S SR RIEIR G, NS ke TR R T B S IR TR T A 8000 T T il

2. FRNEE BT IRR— BN, Fehe 5 R Y BRI R TR T80 % FTE M i,

3. 7 NG H P RE S BER AR AR b, TR (LB R, O T AR UETE i AR R 28 A0 T RAFIRAR, JRs 25 /& T B RS T 1 AR T
70°C, # /I T40°C,

4. IR AR IB AL A T 252 2 REMERERI A, 1E B & SRR I, I BR0E 38 512173000/ N 187 B8 5 v i

1. The grease should be evenly coated on the flexible bearing. The cavity formed by connecting the motor to the mounting flange
should be filled with 5 0 % grease.

2. Apply a layer of grease evenly on the inner wall of the flexible wheel. 50% of the grease should be injected into the cavity
formed by the flexible wheel and the flange.

3. The performance of the grease changes with temperature, and the higher the temperature, the faster the deterioration. In order
to ensure that the grease is always in good condition, the heat balance temperature of the high temperature section of the reducer
should be lower than 70 °C, and the temperature rise should be less than 40 °C.

4. The wear of each moving part of the reducer is mainly affected by the performance of the grease. Under the condition of the
condition, the harmonic reducer should be replaced every 3,000 hours of operation.

FASTON®

L B $E INSTALLATION PRECAUTIONS

Hofth 33 00

Other considerations

1. TR IR A A FE B TE TS AP N 2258, ARG REANREA (AT S N B0 & P, DA G A R s ildiiih
2. TERINIROR S 14 T A SRRl AR R 0 AR 2R ORFF FE 20 T . N BOA THARZE T _EREA, SRR TR
3. A, T NIEEHI LA SR FARE e, A B ESR.
4. ZATLINY, T A A A BT T RO B SRR ) R 77 10, AR FH X L MR T R RO 1 A, MR T A ol 2K
5. PR ARG, EIIAEE S NIEEHE & /2 180 K R,
6. 3L SE E TR SEIRIE (100rpm) 81T, WA SRS H A, TS 1L, B E 2R G IEMe S AR, LR
IEWHIE ROR SR
7.5 RIS AR ] T A 2R P I 2R IR 0.01mm, 5 A2k B 20,01 mm, SREFLEGE L5 2k AV LEZ0. 1mm,
8. B LR i 82, DAS AR IROEML AT ANE, R AR AL B P A R A BT, BIIan - ek s sh AL FT s, B2 &
T 5 T O TR, R FL Aok FH IR EZ
. T AR AL PR AR A el i 19 a2 RS SR 1R M BR AR AR 9IRS, an Sl e s RS, SIS R e = BB RO A T
W, RIS B 6 P A
10. TR A A A% ) 22 TR T SR T RIS AR Y 2252, JRRIAAS 20 TR T AN 2 R A ) RO 2 Y Je sl B FE ARG 2 S5 28K
11, B0 AR T 5 A SRR 5 AL T, 75 S SR8 I I [E0 R IR ERBI 5 77

1. The harmonic reducer must be installed in a sufficiently clean environment. During the installation process, no foreign matter can
enter the inside of the reducer to avoid damage during use.

2. Please confirm that the gear face and flexible bearing parts of the reducer are always fully lubricated. It is not recommended that
the tooth surface be always facing up, which will affect the lubrication effect.

3. When assembling, the circular spline and the flexspline must be assembled on the device before assembling the upper wave gener-
ator.

4. When installing the machine, the long axis of the wave generator is aligned with the long axis direction of the reducer. When it is
in place, fix the reducer with the corresponding screw and tighten the screw slightly.

5. After installing the wave generator, make sure that the flex wheel and the rigid wheel are 180° symmetrical.

6. Please run at low speed (100 rpm) after installation. If there is abnormal vibration or abnormal noise, please stop immediately,
re-check whether the installa

7. Mounting plane machining requirements fixed with the reducer: flatness 0.0lmm, perpendicular to the axis 0.0lmm, threaded hole
or through hole and axis concentricity 0.1mm.

8. In order to prevent grease leakage and maintain the durability of the reducer, the corresponding sealing mechanism must be used
for different positions. For example, the oil seal is used for the rotary motion, the O-ring is used for the mating surface of each part,
and the screw rubber is used for the screw hole.

9. Please strictly follow the dimensions of the reducer in the drawing to determine the design dimensions of the flange and wave
generator. If it exceeds the size of the avoidance, it will cause interference between the flexible wheel and the flange or wave genera-
tor, affecting the service life of the reducer.

10. Please design the reducer according to the installation depth requirement of the wave generator. The installation depth of the
reducer will affect the starting torque and accuracy of the reducer.

11. The surface of the reducer is not rust-proof. When rust prevention is required, apply a rust inhibitor to the surface.



FCD%3%| FCD SERIES EASTON®

WOEDLIERE Y El REDUCER PERFORMANCE DATA

H
1
i q
—5
d [ @1
[ —
| I=h
g4 ] S
=9 o ¥ 1 =S o
S S AS) S| 9
T N
| M
. 1@
a g
N ——— 4!7,,
J L
K
FCD-C-SR~F%R (The dimension form of FCD-C-S) Unit/$fI: mm
FCD-C-C Wodel ]y 17 20 25 32
Dimension
DANT 70 80 90 110 142
®BH7 49 59 69 84 110
dCH7 30 34 40 52 70
@D 9 9 18 22 29
®EH7 11 15 20 24 32
OGH7 48 56 64 80 106
OH 22 22.7 26.8 31.5 37
I 21.5 22.2 24.5 29.4 34.2
J 4.9 5.4 4.8 5.5 6
K 12.9 13.4 16.8 19.5 22
L 2.5 2.5 2.5 3 3
M 2.8%7 2.8%7 2.87%7 3.4%% 3.57%7
N 4.05, 5.05, 5.25, 6.3.5. 8.6,
®0 42 50 60 73 96
P 8 10 8 8 8
Q M3x5 M3x6 M4x8 M5x8 M6x10
DR 64 74 84 102 132
S 6 8 8 10 10
T 3.4 3.4 3.4 4.5 5.5
U 17 21 26 30 40
\% 4 4 4 4 4
w M3 M3 M3 M3 M4
TERST R E VRN L, 18RI AL B2 =400 HE
Remark: The dimension and other details OF 38 45 53 66 86

are subject to the drawing of delivery.

Weight/kg| 0.5 0.66 0.95 1.7 3.3




